






































1 year ≈ 365¼ days

1 tropical month ≈ 27⅓ days

1 synodic month ≈ 29½ days



1 year ≈ 365¼ days

1 tropical month ≈ 27⅓ days

1 synodic month ≈ 29½ days

19 years =    235 synodic months

19 years      =   (235 + 19)     =    254 tropical months



























Finding Centre, and testing for Roundness:

centre is adjusted to make trend line horizontal.









from: Provisional Wheel Counts …

F1 Latest analysis F1 26vii03. Table gives 54, with 
lacunae of 12.58 and 20.48. There is a pair of adjacent 
points, otherwise isolated, between these two gaps. On the 
plot, 54 is seen to fit these two points rather badly, and 55 
fits them better while also fitting the other points 
reasonably well. The lacunae lead to an uncertainty of ±3. 
Hence: limits 51, 58; preferred value 54 or 55. 9ix03.

F2 Certainly 30 teeth; all seen. Analysis 18vii03.

and so on …










































































